N NPaBO Ha BHECEHNE TEXHUYECKNX N pa3MepHbIX U3MEHEHNN

Komnanus SMC coxpaHsieT 3a cob6o

Z;,SNIC
I{nmnanmaﬂ NMHeBMOKapeTKa KopoTkoro xoga MXS

Bbicokasi XXeCTKOCTb,
BbiCOKad TOYHOCTb

MnaeHble ABUXeHUs Gnarofaps
PONMKOBbIM HANPABMSIOLLIAM

CpepncrBa,
oOneryamowme MOHTaX

& +
@69
b

F +

Y3en

OTBepCTI/Iﬂ 4na No3nLMOHMpoBaHmA peryiMpoBKu xopaa

0bneryaoT NoBTOPHbIA MOHTaX
MoxeT 6biTb OCHalLeHa

YHUDULIMPOBAHHBIM Y311OM
orpaHuyeHuns xoga 0-5 MM

Bo3amoxHa ycTtaHOBKa
AAaTYUKOB MNMOJIOXXEHUNA

Jlatuvkin nonoxXeHus K
MOMHOGTHIO YTaNAUBAIOTCS OMnakTHas
B KOpNyCe KapeTku n nerkas

OtsepcTus

Bnarogaps [ByXnOpLUHEBOMY MPUBOLY ANA NOBMLUIOHIADOBaHIS

ycunve B fpa pasa 6onblue,
/ YeM yCunMe Ha CTaHAapTHOM LuMuUHEpe

‘ ]::.I &- \ I
e 8 #0000
e - R G < / ity

KpeneXxHbie oTBepcTud
(pessba)

BapHaHTbl MOHTaXa NHEBMOKapPEeTKH

1) Kpennenue CHHU3Y 2) KpenneHue cBepxy 3) oceBoe Kpennexue

—
Y

L A9

2-39



KomnakTHas nHeBMOKAPETKa KOpOTKOIo Xopa

MXS

@6~25

TeXHHYECKHE XapaKTepHuCTHKH

Huametp nopwHs (Mm)

6 8

|12 |16 2

0

25

MpucoeauHuTENbHAA pe3bba

M3 M5

G1/8

Cpepa

OuMLLEHHBIN CXaT. BO3AYX C COAepXaHuemM® unu 6es cogepx. mMacna

[MpuHUMN feiicTeIsA

[IBYCTOpOHHero AelicTBus

[uanason pabouux gasneHuin (MMa) | 0.15 ~ 0.7
VicnbitatensHoe pasnexune (MMa) 1.05
Temnepatypa oKpyxXatoLLel -10 ~ +60
u paboyeit cpegpl (°C)

CKopocTb nopLuHs (Mm/c) 50 ~ 500

* PekomeHgyembiit Tun macna: ISO VG32 knacc 1

BbIABUTAHUNE
Teopernyeckoe ycunue Ha Kapetke (H)
@ nopLuHa (Mm) @ nopluHeBoro | Hanpaenerue Schchektus. nnowany | Pabodee gasnetue (Mra)
wroka (Mm) ABKEHUS nopLuts (Mm?) 0.2 0.3 0.4 0.5 0.6 0.7
6 3 BblgBuraHue 57 11 17 23 29 34 40
BrarusaHue 42 8 13 17 21 25 29
8 4 BbiaBuraHue 101 20 30 40 51 61 71
BrarusaHue 75 15 23 30 38 45 53
12 6 BbigsuraHue 226 45 68 90 113 136 158
BrarusaHue 170 34 51 68 85 102 119
16 8 BbigBuraHue 402 80 121 161 201 241 281
BrarusaHue 302 60 91 121 151 181 211
20 10 BbigsuraHue 628 125 188 251 314 377 440
Brarusarue 471 94 141 188 236 283 330
25 12 BbiasuraHue 982 196 295 393 491 590 687
Brarueaxue 756 151 227 302 378 454 529
Bec (r) JlaTYMKH NONOKEHHS
Tun CraHpapTHas anuHa xopa (Mm) Moapo6Hyio uHopmaumio cM. Ha cTp. 2-220
10 20 30 50 75 100 125 150
MXS6 95 110 130 230 - - - - lepKoHOBbIA AATYHK
mg?z : 1_75 g;g égg ;gg ;80 : : ceetopuon | HanpsxeHue Tok
EMXS20 - - 1100 | 1400 | 1800 | 2300 | 2900 | 3400 D-A93L | @ 24VDC/110VAC | 5~40 mMA
EMXS25 - - 1950 | 2350 | 2950 | 3550 | 4450 | 5150
JNEeKTPOHHbIH [ATYHK
cseropuon | Hanpsxerune Tok
D-M9BL | e 24 VDC < 30 MA
(2 nposoga)
D-M9PL | e 24 VDC <50 MA
(PNP-cTpykT.)

2-40




N NPaBO Ha BHECEHNE TEXHUYECKNX N pa3MepHbIX U3MEHEHNN

Komnanus SMC coxpaHsieT 3a cobol

O

smﬁ KomnakTHas nHeBMOKAapeTKa KOPOTKOro Xopa
MXS

Kputepun BbiGopa / ponyctumble 6oKoBas Harpy3Kka W nporub

MpopnonbHas Harpy3ka MonepeyHas Harpy3ka CmelienHas Harpyska

OTKNOHEHME OT ToukM A,
€C/ Harpy3ka HanpasneHa no F

A F

]
L = laab—— [——
26 Lr=24 mm

0.04 0.04 0.020

2
=3
@
=]
=3
@

__0015

= = -
= = =
g MXSB50 | mMxsewg  |MXSE-30 @ @ MXS6-10 nﬁ(/ss-zu MXS6-30
Z o02 S6- ) MXS6-20 _ | | 2 002 L 2 010
T | sapuralied || Ee
g ~ 2 A MXS6-10 g
2 7 g S /’ . S 7 -
2 2 S
o / o / o MXS6-50

0.01 / % 0.01 //// 0.005 //VA/"/:_/‘

yz Z Y
0 10 20 30 40 0 10 20 30 40 0 10 P "

Harpyska (H) Harpyaka (H) Harpyaka (H)

28 Lr=50MM

=4
o
a

‘ 0.04 0.020
MXS8-75 MXS8-50
004 / / MXS8-10 i
- / o oots MXS8-20 MXS8-30 MXS8-40 MXS8-50
s MXS8-40 s s
= / / S MXS8-50 | S
= = MXS8-40 = 7
g0.03 V4 1 o MXS8-75 s o // /
= / MXS8-30 Z0.02 Vi MXS8-20 20,010 MXS8-75 _|_|
gooz e MXSTZO g // ~ = MXS8-10 S / P
S / //:;// MXS8-10 5 /// p= = // //
/ N A 0.01 > L 0.005
0.01 e / L V
/ f/_.,/ L. /'/ 1
0 20 a0 60 80 0 20 40 60 80 0 20 40 60
Harpyska (H) Harpyaka (H) Harpyaka (H)

212 Lr=65Mm

0.10 0.04 0.035
0.030
0.08 ¥
MXS12-100 MXS1275 0.03 XS12:75 .
= = MXS12-100 MXS12-40 =0 MXS$1240
= s /. _AMXS12-30 s MX512-20
= 0.086 = MXS12-20 = MXS12-30 MXS12-40 MXS12-50 | MXS12-75
© ® / | 0.020
z z 002 . S /
2 2 MX$12-10 o 4 / MX$12-100
S Vo 3 = Z0.015 -
2 004 MXS12-50 = P = / / /
2 / MXS12-40 2 2 '/ -
o || MXS12-30 5 p Sooto i
/ MXS12-20 0.01 . V / -
0.02 MXS12-10 L~ Y //
o st ——‘/; = 0.005 Z ot
= ‘ — =
0 20 40 60 80 100 120 0 20 40 60 80 100 120 0 20 40 60 80 100 120
Harpyaka (H) Harpyaka (H) Harpyaka (H)

2-41



KomnakTHas nHeBMOKApPeTKAa KOPOTKOIO Xopa

MXS

Kputepun Bbibopa / ponyctHmblie 6oKoBaa Harpy3Kka H npornb

MpoponbHas Harpyska

216

Monepeynasn Harpy3ka

CmelueHHas Harpy3Ka

OTKNOHEHME OT TouKM A,
€C/ Harpyska HanpaeneHa no F

A F

I i

P B —

Harpyska (H)

Harpyska (H)

Lr=89 mm
0.14 i i 0.04 [ 0.035 J
g y MXS16-100 MXS16-1
s ,MXS16-125 MXS16-100 T uxste- 78 0.030 MXS$16-20
/ / : /| wxste 40 MXS16-30 MXS16-100
o0 / A oo %, 0025 MXS16-40 MXS16-50 MXS16-75 MXS16-125
= Vd s /’ MXS16- 30 =
= Va = 7 // - = <
o s v o / MXS16- 20 g 0020
I / /] MXS16- 75 I 0.02 e | T
o 0.06 e 2 7 - _ImMxs16-10 2 0015
g / d L~ MXS1|6 50 2 /1 //J/ 2 v
E 0.04 / T _AMXS16-20| | 2 / g 2 / /
& 7 S —— T 5 / A S 0010
/ / L1 //___.. MXS16- 30 0.01 ] /
0.02 g : /2 ‘:5—5-{ == xs1e. 101 = 0005 LALL
— 7 y
0 50 100 150 200
0 100 150 200 0 40 80 120 160 200
Harpyaka (H) Harpyska (H) Harpyaka (H)
020 Lr=122Mmm
0.10 i i 005 0.040
0.035
MX820-150 MXS820-125 MXS20-100 v
0.08 —+ 5 0.04 MXS20-150 MXS20-125 [ MXS20-100] 0.030 s MXS20-100
- / . MXS20- 75 o MXS20-30 MXS20-125
s = MXS20- 50 = MXS20-40 MXS20-50 MXS20-75 MXS20-150
2 e / / = o 7 Mxs20- 40 = 0.025 7 A ~
2 © / / MXS20- 757 s ° / 7 | o / / / //
3 / 3 MXS20- 30 $ 0.020 4 7
z / A A 2 N A A 2 Yooy
2 004 MXS20-'501 g 002 — MXS20- 20 S oot /
S 4 a7 $20- 50 S S 0.015 —
= | Mx520,40 = T | = I+
S | 5 MX$20- 10 5 "/ /
/ L MXS20- 30 ) / /4/ 0.010 AAA L
0.02 P o =1 MXS20- 20 0.01 //, /’/
= :’:—‘%—"" MXS2 R0 e 0.005 /
0 100 200 300 0 100 200 300 0 40 80 120 160 200 240
Harpyaka (H) Harpyska (H) Harpyska (H)
225 Lr=154 MM
0.07 — ! i 0.05 0.040 i
MXS25-1 MXS25-12 MXS25-1
0.06 ey STESIZD | X210 0.035 MXS25-10
: / MXS25-150) MXS25-125 | MX525-100 MXS25-20 MXS25-100
A 0.04 I 0.030 MXS55.30 MXS25-50 {MXS25-75" MASag 12
= 005 7 v = Awxszs- 75 H - ) MX$25-150
= oo / /] AT = / / MXS25- 50 = 0.025 / ”
o0 va - ! @ 003 L L 4 MXS25- 40 @ / / /
3 / /] L~ e z 4/ /N /// T 0.020 / L
Z 003 7 e /’ e X525 40 z // 4 /’ // A Mxs25-30 z / /// /
2 / / 1 L~ MXS25- 30 S 0.02 A7 NXS25920 2 0.015 L
= 1 P = / ; = /
S 0.02 7 ,/. T e MXS25- 20 o ////////, MXS25- 10 o /
o MXS25- 10 0.010
Q01 // A /,‘_é// 0.01 // //J{/ /V
=1 1 0.005
] N
0 100 200 300 400
0 100 200 300 400 0 50 100 150 200 250 300

Harpyaka (H)

[uHamuueckas Harpyska He fAONKHa npesbiwatb 1/10 AONYCTUMOI CTaTUMECKOR Harpy3Kku (cuna MHepLMKM Macc, CKopocTb).

2-42



O

smﬁ KomnakTHas nHeBMOKAapeTKa KOPOTKOro Xopa
MXS

Kpntepnn Bbibopa

PacyeT ponycTMmoii cTaTHYecKod Harpy3ku Fp, Fy n Fr Mepbl NpegocTopoXKHOCTH

MpoponbHas Harpyska MonepevHas Harpyska CMeleHas Harpyska 1. Ecnm uunuHap pabotaet ¢ HegonycTuMo BhiCOKMIA
MOMEHTaMK, BCNEACTBUIN HecOanaHCpoBaHHoii
Harpysku Ha Harpas/sioLLyIo MPOUCXORUT yBeSAYeH e

M3 ( 3a30pa. Bmecte ¢ aTiM cokpallaetcs cpok cryx6bl
KapeTku.
FrooLO®
Lr CM

2. CnuwKoM BbICOKas CKOPOCTb MOPLLHA NPUBOZUT K
yHapam, Bo3AeliCTBYIOLLMM Ha HanpasnsioLLyio,uTo
TaKXe COKpaLLRET CPOK CIyXObl.

M3 ( EE ==
I ik
L || c.
__M1x100 __M2x100 _ _M3x100
Fp_ LP+CP (H) Fy_ LY+CY (H) Fr_ Lr+Cr (H)

L, Ly, L, - paccTosiHite Mexzy MOHTaXHOI NNOCKOCTBIO 11 LIEHTPOM TAXECTY Harpyakil (Mm)

C, C,, C, - nonpaBouHbiit KO3(MULMEHT Ha PACCTORHIE OT LIGHTPa TAXECTU Harpy3Kut (Mm)

MakcHmanbHo fONYyCTHMbIA MOMEHT

N NpaBO Ha BHECEHNE TEXHUYECKNX N pa3MepHbIX NSMEHEHUI

Komnanus SMC coxpaHsieT 3a cob6o

Xog (Mm) | Jonyctumbii momeHT gs: M1, M2, M3 (Hwm) PaccTosHMe OT LieHTpa TAXECTI HarpyaKku (M)
[
nopwHa (mm) | 10 20 30 50 75 100 125 150 Cp1 Cp2 Cy1 Cy2 cr Cr2
6 0.70 0.98 1.22 1.22 - - - - 11 6 13 16 16 6
8 - 2.06 2.78 417 417 - - - 11 7.5 13 20 20 7.5
12 - - 4.26 7.11 9.95 9.95 - - 24 8.5 26 25 25 8.5
16 - - 8.33 11.42 | 1713 | 22.84 | 22.84 | - 27 10 30 31 31 10
20 - - 13.79 | 19.31 2483 | 35.87 | 35.87 | 35.87 | 34 14.5 36 38 38 14.5
25 - - 21.73 30.42 39.11 47.80 47.80 47.80 42 19 44 46 46 19
Konctpykuns
3 @ @ ® 1 7
/® CneumchuKauus
N ' T /@ Mos. | O6osHaueHme Marepuan
1 Kopnyc Antom. cnnas
@\ 2 Cron (TBEpA.
iy r 3 KoHuesoin dhnanet anuTpoBaHue)
S - I 4 [vHa Cranb
Q i ! 5 Hanpasnsiowas
L 1 — 6 [MopLuHeBOIn LTOK Hepx. cranb
7 MopLueHb
8 3axu1M ynnoTHeH!s TlatyHb
9 Kpbilka lnacTmacca
3 1 PemKomMnnexT 10 | KomneHcatopHas raiika Hepx. cTanb
KomnnekTsl ynnotHeHui, 11 CoepuHUTENbHbIA KaHan JaTyHb  (HUKenupos.)
cocTosLuume u3 nos. 17, 18,19 12 PonukoBeiii cTonop Hepx. cTanb
Tun Homep fnA 3akasa 12 g°”"”‘"' HO’:“”"'”' crank
enaparop nactmacca
mgg m;g:gg 15 Jdemndpepran Lwaiba Monuypetan
VIXS12 st1'2 PS 16 KoHuesoi gemndep lMonuypetan
VXS16 MXS16-PS 17 YnnoTHeHue nopLuHa NBR
= 18 YNnoTHeH. MOPLUH. LUTOKa
EMXS20 MXS20-PS 19 KonbueBas npoknagka
EMXS25 MXS25-PS Kpyrnoro npoqwmﬂ

2-43



KomnakTHas nHeBMOKAapeTKa KOPOTKOIo Xopa

MXS

Homep gna 3akasa

MHeBMoKapeTKa

EMXS
ana @20 n @25 I

! anuHa xoga (mm)

[10 20 [30 [50 [75 [ 100 [125 [150]

16 | 30,50,75,100, 125

20 | 30,50,75,100, 125, 150

25 | 30,50,75,100, 125, 150

MpuHagnexHocTH (3aKa3biBaloTCA OTAENbHO)

V3en orpaHnyeHua xopa

MXS-A

auanasoH perynupoku (Mm)

nopuks (Mm)/(cTaHgapTHbIil xon)
10, 20, 30, 50

8 20, 30, 50, 75

12 | 30,50, 75,100

V3en orpaHMyenna Xofa c aMopTH3aToOpOM

MXS-B

BoigguxeHue | S — 0~5 Boisixerve | S | [ 6 | @ MopwHs (mm)
Brarusatne | T X11 | 0~15 Braruarme | T | [ 8|
Xi2*| 0~25 12
@ nopuuna (Mm) * He ana MXS6 116 |
8| |25 ]
20 |
Brarueaxue
BbiBuxeHe Brarueaxue BbiaBuxeHue
4 H#= -
& & oS 4 & &
Heo—o0o—0 e—br oo H
L3 K3 - % < <
AmopTH3aTop
Homep ans sakasa RB0805 RB0806 RB1007 RB1411 RB1412
Tun KapeTku MXS8 MXS12 MXS16 EMXS20 EMXS25
Makc. mornolLgHue aHeprum Ha xof (Hw=[x) 0.98 2.94 5.88 14.7 19.6
Xog (Mm) 5 6 7 11 12
MakKc. CKOpOCTb CTONKHOBEHUs (MM/cek) 50 ~ 500
Yucno foNyCTUMBIX BOMHBIX X008 B MUH. (n) 80 80 70 45 45
Makc. nonyctumas Harpyska (H) 245 245 422 814 814
[uanasoH pabouux Temneparyp (°C) -10 ~ +60
Yeunue Ha oxartoil npyxude (H) 1.96 1.96 4.22 6.86 6.86
Yeunve Ha pacTsHyToi npyxude (H) 3.83 4.22 6.86 15.80 15.98
Bec (r) 15 15 25 65 65

2-44



N NPaBO Ha BHECEHNE TEXHUYECKNX N pa3MepHbIX U3MEHEHNN

Komnanus SMC coxpaHsieT 3a cob6o

O

SVC

KomnakTHas nHeBMOKAapeTKa KOPOTKOIo Xopa

MXS

rny6uHa
pesbbbl 3.5

Paamepbi
2xM2.5
MXS6 ry6uHa oTsepcTie AN
5 peabbbl 3 nogeona sosgyxa 2XM3
2 13|/ J \ |5 Max. 10.5
— \ L ¥
A ] H
of HEF (R
= ) 5.5
3 6.5
rnybuHa
K 12.5 2xM2.5 pesbbbl 3
) o . 5.5
NxM3 ry6una pessbel 4 RS
=1 _ [To ) [—— NS
] | . S| b (»3;)7
__J | p | C” Fj______1I “ )
< Fzgy= I
x & W g v g
‘ @A et oy b o o ©
NAZ e A
. S © 0 |
- AN
bt
2xM3 o F 3Hg *0.025
rny6buHa N g :2 5
61 5 N ry6uHa 2.
pe3bbbl . (2 1> xF
o) 5 ‘ M
o
A
o) o
A H N
\
- z 11 55
77 S
3 WUR) 3
- (2]
. (NN-T)xH G, N ;[ el 5
H — T A
> ! + Yy v
A B i‘[
E NNxM4 rnybuHa pessbbl 8
R A A A A 1
o~ paspe3 AA
- = = = "y
R
A B
5 N G H NN | GA HA | J K M z Y74
MXS6-10 | 20 4 6 25 2 11 20 10 17 | 22,5 42 | 415 48
MXS6-20 | 30 4 6 35 2 21 20 10 27 | 325 52 | 51.5 58
MXS6-30 | 20 6 11 20 3 31 20 7 40 | 425 62 | 61.5 68
MXS6-40 | 28 6 13 30 3 43 30 19 50 | 52.5 84 | 83.5 90
MXS6-50 | 38 6 17 24 4 41 48 25 60 | 625 | 100 | 99.5 | 106

12

55

=

a7

2

pa3pe3 BB

2-45




KomnakTHas nHeBMOKapeTKka KOPOTKOIO Xopa
MXS

Pazmepbi

MXS8

2xM3

ry6uHa pesbbel 4 OTBEpCTUE ANA
noggoda Bo3gyxa 2xM5

4xM3

rnybuHa pe3b6bl 6

6.5

Yo}
—

6.5

| |

6.5
a7
a7

TIE

paspe3 AA

2 7
3.5 J 6, _ Max.9.5
e  N—
iID4IRCs W é M
2 i 5 & I
ol HE BN
3.8 7
NAXM3
K 46 rny6uHa pesbbbl 4
3.8 7
22 KA 14.6
2xM4 NxM3
_________ my6iHa , rny6uHa peabbbl 5
e3b0bl 6 5 h, I i
P ¥ Pl
g ;
Dn © . <
3 b @) V7S YANS 7 7 NE
@Qj /Y\YJ 24 \Z N\ N
(@ & & ©
12 F
3H9  rybuHa 3
rnybuHa N —
peabbbl 3 12 (? ‘1> xF
i 6 M
(@)
N N
H
YA
77
(NN-1)xH G
H
|.A Fﬁ
N
[s2]
Q
o S 7 S N N7\ P W7 o0
O V&8 U8 A7
0
4
).A )._a
F N G H NN [ GA | HA | J K KA | NA | M Z zZ
MXS8-10 | 25 4 9 28 2 17 20 |13 [19.5|235| — 2 49 | 485| 56
MXS8-20 | 25 4 12 30 2 12 | 30 8529 |[335| — 2 54 | 535| 61
MXS8-30 | 40 4 13 20 3 33 20 9.5]39 435 | — 2 65 | 645| 72
MXS8-40 | 50 4 15 | 28 3 43 | 28 |105|56 |53.5| — 2 83 | 825| 90
MXS8-50 | 38 6 20 23 4 43 46 |24.5|60 63.5| 85| 4 101 | 100.5| 108
MXS8-75 | 50 6 27 | 28 5 83 | 56 [38.5|96 |[885|1325| 4 151 | 1505 | 158

)

i
ks

NNxM4 rnybuna pe3sbbl 8

paspe3 BB

2-46



KomnaxkTHas nHeBMOKAapeTKa KOPOTKOro Xopa

MXS

Pasmepbi
MXS12
20TB. M4 x5
OtBepcTue Ans
2 95 2 OTB.M5 noasoaa Bosayxa
4.75 ) ) J 1 8 Max. 11
[Te}
2 7 =¥ \E t
= = T T 1 ‘i'}-q g
¢ - -6
- T ol
5 8.5
K 85| 8 8.5 NA OTB. M4 x 5
KA 18.5
81.5 N OTB.M4 x 5.5 9 5
e T 5 W {re
oS Ty 5 P —— 'Lif‘T‘ e
o ] ! AR =T A
'S e Sl ©
' ! . ~
3 - 1% —@-Eliéz. © — | 3 — e %
& & ES) X {
©
F
20TB.M5 x 8
<ﬂ_1>x,: o 40TBM4 x6
o4H9 "0 3.5 16 2 x
;O
2
0 8 M < 0
=) ol
0
P S
Y4
Y74
(NN-1)xH G
H 185 8.5 185 8.5
A .B R
y BRI 3
s 3 ML 5|2 i | 2
R -—oO0—-©
H | | S > S
} 5
A B e NN OTB. M5 x 10
04H9 "3*’x 35 ~ 2 o .
HA A N
G 8 PA3PE3 AA PA3PE3 BB
oo
+C')
I
<
F N G H INN|GA|HA | 1| J K |KAINA| M Z | 2Z
MXS12-10 [ 35 | 4 | 15 [ 40 | 2 | 15|40 | 10 | 40| 265 — | 2 | 71| 70| 80
MXS12-20 | 35 | 4 | 15 | 40 | 2 | 15| 40 | 10 | 40 35| — | 2 | 71| 70| 80
MXS12-30 | 35 | 4 | 15 | 40 | 2 | 15| 40 |10 | 40465 — | 2 | 71| 70| 80
MXS12-40 | 50 | 4 |17 | 25 | 3 | 42| 25 | 10 | 652|565 — | 2 | 83| 82| 92
MXS12-50 | 35 | 6 | 15 | 36 | 3 | 51|36 | 22 | 60665 — | 2 | 103102 112
MXS12-75 | 55 | 6 | 25 | 36 | 4 | 61| 72 | 43 | 85| 915[1255| 4 | 149 | 148 | 158
MXS12-100| 65 | 6 | 35 | 38 | 5 [111] 76 | 52 | 130 [1165[1795| 4 | 203 | 202 | 212

2-47



KomnakThas nHeBMOKApeTKa KOPOTKOrO Xopa
MXS

Pasmepbi
MXS16
2-M5
otBepcTMe AnA
3, ! rny6|gHa nodgoga Bosgyxa 2-M5
5.5 ) peaonl 5.5 J | 10 Max. 13.5
°} 0
— ’ % I ‘(ll t
o > < 0
e Jo @
e ¥ I-_(:___:t P j.{.?j_
55 | 10 fio
K 21 \5.5 NA-M
KA 21 M5
rnybuHa
pe3bbbl 5.5
37.5 12 6
N-M5 rny6uHa pe3sbbsl 6
__________ - _ 6 N, - 4-M5
{% ) @ I;J o '_l ; : v rny6uHa pesbbbl 7
S - : : i gy ’
| : ¥ — DS
=09 > T i %
~5[E | 5 pemi
. _d © NAINA
2 l%i*( 18] 7 i 2
[ N
2-Mé ENE
= N (o> NI
—-1)XF T oS
rny6uHa +0.030 21 (2 > g
pesbbel 10 5H9 G =
rny6uHa pe3b6bl 4
] 10 M
o
0
© o
(3] <
y4
Y74
(NN-1) XH G 24 10.5 24 10.5
H
el e ‘ ‘
- ol ]: 0
: | © o
g N NEERSIE
AN B AND A A I )
\J 7 \J \J \J A" \J A4 I 1T
i | e @
(aY}
"l & €
f 6
g° NN-M6 rnybuHa pesbbbl 12
A B
5Hg *3.9% = k= g
HA J GA 5 paspes AA paspes BB
F N G H | NN | GA | HA | | J K | KA|NA| M Z | 2z
MXS16-10 35 4 16 40 2 16 | 40 10 40 29 | — 2 76 | 75 87
MXS16-20 35 4 16 | 40 2 16| 40 | 10 40| 39| — 2 76 | 75| 87
MXS16-30 35 4 16 40 2 16 | 40 10 40| 49| — 2 76 | 75 87
MXS16-40 40 4 16 50 2 16 | 50 10 50 59 | — 2 86 | 85 97
MXS16-50 30 6 21 30 3 51| 30 15 60 69 | — 2 101 | 100 | 112
MXS16-75 55 6 26 35 4 61| 70 | 40 85 94 (125 | 4 151 | 150 | 162
MXS16-100 | 65 6 39 35 5 109 | 70 55 | 118 | 119 | 173 | 4 199 | 198 | 210
MXS16-125 | 70 | 8 | 19 [ 35 | 7 [159| 70 | 68 | 155 | 144 | 223 | 4 | 249 | 248 | 260

2-48



N NPaBO Ha BHECEHNE TEXHUYECKNX N pa3MepHbIX U3MEHEHNN

Komnanus SMC coxpaHsieT 3a cobol

O

SVC

KomnakTHas nHeBMOKapeTKa KOpPOTKOro Xopa

MXS

Pasmepbl
EMXS20
oTBepcTne ana
3, .13 2-M6 my6una pessisl 6.5  nogeona Boanyxa 2-Re (PT) 1/8
6.5 | J | 12 Max. 14.5
i \
_I
— T o
s 1| & %} 24
T v o [~
[ ¥ $ $ ___‘_"'" 3 ¢
6.5 | [12
K 25 |65 |12 NA-M6&
KA 25 rnybuHa
pe3bbbl 6.5
46.5 rny6uHa 18, .6
N-M5 peabbbl 6
= e 6M5
gfﬁ, [i ’: 6. « rny6buHa peas6bl 8
e@ © é - 7 —| J..-‘i: ‘h i PN "__
> @ B 8 3 S .
®© ‘l L A\@ @__' ) ©of © Bl ST _m_
© le iR N =R ol AR o
@ o & & ® 5]
25 F i e
3o| €
+0.030 =
_#5H9 0T <ﬂ-1>xr= 2|8
2-M6 rny6uHa 27 2 5| B
pe3bbbl 5
rnybuHa pesbbbl 13
0 13 M
o
2 3
z
Y44
(NN-1) X H G
H
A B 29 11.5 29 11.5
[
o1 Dw” 0 i
o | - —
i : 15 kbl -
646+ o+—+6—o T S
o I '
31 H: i °, & r{}l AR
t 6 LA 1B % NN-M6 rny6uHa pesbbbl 12
05HY*99% HA GA paspe3 AA paspe3 BB
F FF | N G H | NN | GA | HA | J K |KA[NA| M Z | 2Z
EMXS20-10 | 50 | 40 4 15 | 45 2 25| 35 | 10 4| 31| — 2 83| 815 97
EMXS20-20 | 50 | 40 4 15 | 45 2 25| 35 | 10 44| 41| — 2 83| 815| 97
EMXS20-30 | 50 | 40 | 4 |15 |45 | 2 | 25|35 | 10| 44| 51| — | 2 | 83| 815| 97
EMXS20-40 | 60 | 50 4 15 | 55 2 35| 3 | 10 54| 61| — 2 93| 915|107
EMXS20-50 | 35 | 35 6 15 | 35 3 50| 35 | 10 69| 71| — 2 | 108 [1065] 122
EMXS20-75 | 60 | 60 6 19 | 35 4 54| 70 | 10 | 108 | 96 | — 2 | 147 [ 1455 161
EMXS20-100| 70 | 70 6 37 | 35 5 | 107 | 70 | 58 | 113|121 | 169 | 4 | 200 |1985| 214
EMXS20-125| 70 | 70 8 41 38 6 [155| 76 | 70 | 155 | 146 | 223 | 4 | 254 | 2525| 268
EMXS20-150| 80 | 80 8 19 | 44 7 | 195| 88 | 87 | 190 | 171 | 275 | 4 | 306 |3045]| 320

2-49



KomnakTHas nHeBMOKApETKa KOPOTKOro Xopa

MXS

Paamepbi
EMXS25
2-M8
rﬂy6|/|Ha oTBepcTne gna
4,16 peabbbi 8.5 nopopa Bospyxa 2-Re (PT)1/8
° 8 J | 15 Max. 16.5
—
© © o \‘r‘\ ;‘Bi
- ol ¥ Q)
A
i n (3ol
i @ Or1O-4 )
1TNEF o
8 15
K P NA-M8
s | hs rny6buHa
pe3bbbl 8.5
KA 31
54.5 N-M6 22 7
7 rnybuHa
A 1 el 0 pesbbbl 13 === 6-M6
X o o o ] i rny6uHa peabbbl 10
N} L o
) = tE Tn el
gd | [ 7 [
— @
o @Téﬂ SO—O LO—© gl & I
2\ l@ﬂ@ L~ FF S g- o
-/ Y &5 &
& &
31 F g |o
g6H9+g'°3° N go| ©
— 0 (—-1>XF |5
2-M8 rny6buHa 30 2 5 \%
rny6uHa pesbbbl 15 pess6yl 6 =
0 15 M
o
8 8
zz
(NN-1) X H G
H 34 16 34 16
A B
R4S R
i 4R AREEE (N ] e
— @—@—@—A O Pt \,llj 2 K[J ® ha
I L \i/ w \i/ w\l "4 — T ®
i {y O [OF
Nl P = > I . -
g 5 L L
* 7 |‘A }‘E
06H9 5 HA GA /NNme
rnybuHa peabbbl 16
pa3pe3 AA paspe3 BB
F FF | N G H | NN | GA | HA | J K |KA|[NA| M Z | 2Z
EMXS25-10 | 50 | 40 4 22 | 45 2 22 | 45 | 12 47 | 35| — 2 92 | 905|108
EMXS25-20 | 50 | 40 4 22 | 45 2 22| 45 | 12 47 | 45| — 2 92 | 905| 108
EMXS25-30 | 50 | 40 4 22 | 45 2 22| 45 | 12 47 | 55| — 2 92 | 905|108
EMXS25-40 | 60 | 50 4 22 | 55 2 22| 55 | 12 57| 65| — 2 | 102 |1005| 118
EMXS25-50 | 35 | 35 6 20 | 35 3 55| 35 | 12 70| 75| — 2 | 115 1135] 131
EMXS25-75 | 60 | 60 6 26 | 35 4 61| 70 | 33 90| 100 | — 2 | 156 |1545]| 172
EMXS25-100| 70 | 70 6 32 | 35 5 102 | 70 | 50 | 114 | 125 | 162 | 4 197 | 1955 213
EMXS25-125| 75 | 75 8 40 | 38 6 | 154 | 76 | 67 | 155|150 | 218 | 4 | 255 |2535| 271
EMXS25-150| 80 | 80 8 30 | 40 7 |190| 80 | 82 | 180 | 175|258 | 4 | 295 |2935| 311

2-50



Air Slide Table (Symmetric Type)

Series MXS

How to Order

‘.“7_

NETEERE MXS (12|  [L—{50||ASHMON|[S| k{/ﬂ e
T & ~ W o
| N ./‘.- =
Port thread type :Q\/“‘
- F’;AC 0810018 Number of auto switches
TN NPT 220, 25 > 2 pcs.
TF G S 1 pc.
n “n” pcs.

Symmetric type ¢

¢ Auto switch

. [ - [ without auto switch |

¢ Bore size (Stroke (mm)) * For the applicable auto switch models,
6 | 10, 20, 30, 40, 50 refer to the table below.
8 10, 20, 30, 40, 50, 75

12 10, 20, 30, 40, 50, 75, 100

16 10, 20, 30, 40, 50, 75, 100, 125

20 10, 20, 30, 40, 50, 75, 100, 125, 150

25 10, 20, 30, 40, 50, 75, 100, 125, 150

Adjuster option e

- Without adjuster e .
AS Adjuster on extension end SpeCIflcatlons
AT Adjuster on retraction end ’ Specifications are the same as the standard type. Refer to page 4.
A Adjuster on both ends
BS Absorber on extension end
BT () Absorber on retraction end
B () Absorber on both ends

Note 1)Options BS, BT and B are not
Q available with the MXS6L series.
Note 2) Functional option is not available
with the MXSOOL series.

Applicable Auto Switches/Refer to “SMC Best Pneumatics” catalogue for further information on auto switches.

5 Load voltage Auto switch model | Lead wire length *
Type| Special function Electrical § %, Wiring (m) Pre-wired Applicable load
oL p entry |5 = (Output) DC AC | Perpendicular | In-line | 0.5 | 3 5 | connector | “PP
= (N | © | @
o= 3-wire (NPN equivalent) | — 5V — A96V A9%6 o o | — — IC circuit | —
[$]
3 *g — Grommet| Yes Relay
T3 2-wire 24V | 12V [100V A93V A93 ® o — - - PLC '
= 3-wire (NPN) 5V 12V MONV M9N [ J ([ J O O IC circut
G , circui
= — 3-wire (PNP) M9PV MOP | @ [ ] @) @)
o . Ly 2-wire sy 12V | — M9BV MB | @ | @ | O O —  |Relay,
rommet| Yes
% ) e 3-wire (NPN) MONWV MONW [ @ [ ] O ©) L PLC
o [Diagnostic indication| - 5V,12V IC circuit
g (2-C0|OUI’ indication) 3-wire (PNP) MOPWV M9PW [} ( ] O O
2-wire 122V M9BWV M9BW | @ (] O O —
* Lead wire length symbols: 0.5 m Nil (Example) MON = Solid state switches marked with “O” are produced upon receipt of order.

- L (Example) MONL
Z (Example) MONZ

* Since there are additional applicable auto switches than are listed, refer to page 31.
* For details on auto switches with a pre-wired connector, refer to “SMC Best Pneumatics” catalogue.

24



Series MXS

Dimensions: MXS6L/Symmetric Type

Basic style =
e
C
[}
c
k]
o E
@3H9 *59%depth 2.5 N o 5
i 1> xF a -
11 ) © 2-M3 thread depth 5
2 2
o [%]
F i g
82 T °
n o ™ X
= c [
g o 7
o2 © o =
o % N A %) o =
a2 N4 N R BT
R o
Py é © @
b P L
4-M2.5 thread Qij‘ 4
55 3 depth 3.5
Stroke adjuster " at extension end)
- Stroke adjuster at retraction end
at extension end
N-M3 thread depth 4
77 real ep
(Helisert)
Y4
* For detailed dimensions on stroke
© o adjusters, refer to the options available
- A with adjusters.
Rubber stopper (See page 19.)
0
S 5 M
0
[aV)
-
51
Q
©
wn
8
o o
HA GA *
@3H9 o %depth 2.5 %
NN-M4 thread depth 8 }.A Q )
4
T _ T &
i on:l o
=1 T 0000600
3 F@D °E s H
Q [S] 7
A B
11 55 11 55 FH l-—
Section AA Section BB (NN-1)xH G
K 12.5
2-M2.5 thread depth 3
3 6.5
.5
0 = — Tr"E T o}
o| el m o-ef—F i","
BuniiE ] -3
2 |3 J 1|5 Max. 10.5 (With stroke adjuster at retraction end)
2-M2.5 thread depth 3
6 Operating port 2-M3
(mm)
Model F N G H NN | GA | HA | J K M Y4 Y44
MXS6L-10 20 4 6 25 2 11 20 10 17 22.5 42 | 415 48
MXS6L-20 30 4 6 35 2 21 20 10 27 32.5 52 | 51.5 58
MXS6L-30 20 6 11 20 3 31 20 7 40 42.5 62 | 61.5 68
MXS6L-40 28 6 13 30 3 43 30 19 50 52.5 84 | 83.5 90
MXS6L-50 38 6 17 24 4 4 48 25 60 62.5 | 100 | 99.5 | 106

25



Dimensions: MXS8L/Symmetric Type

air siice Tavle Series XS

Basic style ©
@3H9 *0%%depth 3 N 1> . g
2orY o depth o N_ ),
12 2 o
3] 2-M4 thread depth 6
20
(2]
— 12
F T e
§ @
5] |6
g _ HE 50
2 © O O AR
© O o 5
o C Sl =
2 llve o> ee Z= s 2
o8 I S 8]
< =
= o O —— N
2fz | |° P e
M 3 by | 4 LR e
; e | ;
ito=2 |1\ 4-M3 thread ‘g i 4 LA
depth 4
6.5 N-M3 thread depth 5 (With stroke adjuster
(Helisert) 22 | atextension end)
Stroke adjuster at extension end Stroke adjuster at retraction end
Y74
Y4
* For detailed dimensions on stroke
H adjusters, refer to the options available
o i < with adjusters.
N N Rubber stopper (See page 19.)
Shock absorber (See page 20.)
Yo}
= 6 M ™
<
a
[9)
o
wn
S
HA ) GA <)
+0.025 N o
NN-M4 thread depth 8 o8H9 ' depth 3 A B I
Q
LI
; I
- T % -
DL & =
— — i PN 7> N 7~ N, N7 a
NN 72 N7 \\Z
of KO el sl 16 S
A B
13 6.5 13 6.5 = H T
. . NN-1)xH G
Section AA Section BB ( )
KA 14.6
3.8 7
NA-M3 thread depth 4
K 14.6 P
38 | 7
|
DT i FoFen
o ] ™ Frks A 5
i O s = A == : P
———F D 7}—1
H 7 97 H} J'i
<K A K i
35 J | 6 Max. 9.5 (With stroke adjuster at retraction end)
2|7 Operating port 2-M5
2-M3 thread depth 4
(mm)

Model FINJG[HINNJGAJHA[ I [J T KJ[KA[NA[ M ]| Z [zz Z‘,egafd,'”g ‘he,tﬁxtefﬂa'k
MXS8L-10 | 25 | 4 9 | 28 [ 2 | 17 | 20 [ 13 [195|235 | — [ 2 | 49 | 485] 56 Sboorbar viow the sxtornal
MXS8L-20 | 25 | 4 | 12 | 30 | 2 | 12 | 30 | 85|29 [335| — | 2 | 54 | 535| 6t dimensions of MXS8
MXS8L-30 | 40 4 13 | 20 3 33 | 20 | 95|39 |435 | — 2 65 | 645| 72 symmetrically on page 10.
MXS8L-40 50 4 15 28 3 43 28 10.5 | 56 53.5 — 2 83 82.5 90
MXS8L-50 38 6 20 23 4 43 46 24.5 | 60 63.5 | 825 4 101 [100.5 | 108
MXS8L-75 50 6 27 28 5 83 56 38.5 | 96 88.5 | 132.5 4 151 |150.5 | 158

26



Series MXS

Dimensions: MXS12L/Symmetric Type

[Te}
Basic style 94H9*3**depth 3.5 N e
16 2" 1> xF 2
4-M4 thread depth 6 > 5 2-M5 thread depth 8
8 k7]
So 25
F @ ge 16
3 25
f o
oy £35
0 n ©
5 8 £%
® c o © © © =
I-:i‘ o< \J\ : =&
QH it 5 s % @) @ © ® — g 32 |3
Slhaa RIS 98 ® ;
R & £% =
AL o E3 % B % o
OO -2 & P
EEaEE ST : : ~NT—
il 1 = 5 !
) S I ) B ok o 1 oo !
9 5 N'M,4 thread depth 5.5 (With stroke adjuster
(Helisert) at extension end) 315
Stroke adjuster at extension end
zz Stroke adjuster at retraction end
Y4
* For detailed dimensions on stroke
adjusters, refer to the options available
4B with adjusters.
3 o Rubber stopper (See page 19.)
N Shock absorber (See page 20.)
g e L
[Te}
[}
<
k1
[0}
©
04H9 *5*Yepth 3.5 HA GA So
NN-M5 thread depth 10 A B e
- & R
ﬁ 5 | —
iR B
|4+ o
[aY)
1ZSY o) ()
== R C A a © O "
o E | o L
< J |
Q Q
A B
18.5 8.5 == N —
Section AA Section BB (NN-1) xH G
KA 18.5
K 18.5 5 8.5
S 8.5 NA-M4 thread depth 5
=== T
5 D ~ I «f
T aw A d - =
o i
4 Tl © ki : ; Vﬂ
[Te}
4.75 J | 8 Max. 11
(With stroke adjuster at retraction end)
2 9.5 Operating port 2-M5
2-M4 thread depth 5
(mm)
Model F N G H NN | GA | HA | J K |KA|NA| M Y4 Y44
MXS12L-10 35 4 15 40 2 15 40 10 40 265 — 2 71 70 80
MXS12L-20 | 35 | 4 | 15 | 40 | 2 15 | 40 | 10 | 40 | 365 — | 2 71| 70 | 80 Regarding the external
MXS12L-30 35 4 15 40 2 15 | 40 10 40 | 465 — 2 71 70 80 dimensions with a shock
MXS12L-40 50 4 17 | 25 3 42 | 25 | 10 | 52 | 565| — 2 83 | 82 | 92 absorber, view the
MXS12L-50 | 35 | 6 | 15 | 36 | 3 | 51 | 36 | 22 | 60 | 665] — | 2 | 103 | 102 | 112 K’Ax)t(esf?g' d'me“SK_’nS”Of
MXS12L-75 | 55 | 6 | 25 | 36 | 4 | 61 | 72 | 43 | 85 | 915[1255| 4 | 149 [ 148 | 158 page 125mee‘”°a v on
MXS12L-100 65 6 35 38 5 111 76 52 130 | 116.5|179.5 4 203 | 202 | 212 g '

27



Dimensions: MXS16L/Symmetric Type

Basic style

air siice Tanle Series XS

<
25H9*3%%%epth 4 g
- %— 1) xF o
21 2 2-M6 thread depth 10
%O
5 20
F 2 2
5 R
. o5
g 5 L% ®
Ry 5 ©
23 o & o 5% ?E%
® - % S
£5 | i =% IS
o|E S ® d & P2 -
255 | | NI o ©
i 1] & ] A sy
4-Ms thread depth 7 =N 6~ L ey
N-M5 th th . .
12 6 5 read depth 6 Stroke adjuster (With stroke adjuster
(Helisert) at retraction end 37.5 at extension end)
Stroke adjuster at extension end
Y44
Z
* For detailed dimensions on stroke
adjusters, refer to the options available
[ with adjusters.
g < Rubber stopper (See page 19.)
® Shock absorber (See page 20.)
2l o M T
o
[0}
T
3
HA GA §o
NN-M6 thread depth 12 @5H9 "0 "*depth 4 A B 2
-2 = 5
6
1
A ™ &
oLl o0 B :
T i D0 B AR DLD) EN
Y T VY Y hd
— [T) -
5 @E 2|3 @E 3 Hj
S Q| — —
Q Q
L/ L/
A B
24 10.5 24 105 — =
k k H
Section AA Section BB (NN-1)xH G
KA 21
5.5 10 NA-M5 thread depth 5.5
K 21
5.5 10
S PSSR
S F== o
o @ o ; =y
o B 1Y /ﬁ : of
©o| 55 J I 10 Max. 13.5 (With stroke adjuster at retraction end)
3 |11 Operating port 2-M5
2-M5 thread depth 5.5
(mm)
Model F N G H NN | GA | HA | J K KA|NA| M r4 Y44
MXS16L-10 35 4 16 40 2 16 40 10 40 29 — 2 76 75 87
MXS16L-20 35 4 16 40 2 16 40 10 40 39 — 2 76 75 87
MXS16L-30 35 4 16 40 2 16 40 10 40 49 — 2 76 75 87 Regarding the external
MXS16L-40 | 40 | 4 | 16 | 50 | 2 | 16| 50 | 10 | 50 | 59 | — | 2 | 86 | 85 | 97 Q G o ahock
MXS16L-50 | 30 | 6 | 21 | 30 | 3 51| 30 | 15 | 60| 69 | — | 2 | 101 | 100 | 112 absorber. view the external
MXS16L-75 55 6 26 | 35 4 61 | 70 | 40 85 | 94 | 125 | 4 | 151 | 150 | 162 dimensions of MXS16
MXS16L-100 | 65 6 39 | 35 5 | 109 | 70 | 55 | 118 [ 119 | 173 | 4 | 199 | 198 | 210 symmetrically on page 14.
MXS16L-125 | 70 8 19 35 7 159 70 68 155 | 144 | 223 4 249 | 248 | 260

28



Series MXS

Dimensions: MXS20L/Symmetric Type

Basic style

n
<
05H9 "3 ®depth 5 53 2-M6 thread depth 13
N_ 1> xF 8
27 2 g
?° 25
F 2 ko
oy 2 ERS)
g5 T
g5 £ 25
25 =3
£ & g 25| 3
%5 bl | £
o|g % e
MESES @ @ 0 sg— s
N E = N t H V@
.{‘"‘ i 1 o+ 4 L J7‘ .l
i i I [ h ! ! - 1 FAH
I —— L N B ol ] ¢
18 6 N-M5 thread depth 10 Stroke adjuster at retraction end } (With stroke adjuster
(Helisert) 465 | at extension end)
Stroke adjuster at extension end
Y4
Y4
* For detailed dimensions on stroke
N adjusters, refer to the options available
with adjusters.
ﬁ i 3 Rubber stopper (See page 19.)
~ Shock absorber (See page 20.)
Te}
p 13 M
25H9*5 * depth 5
NN-M6 thread depth 12 o TP HA GA
2| 6 L.A B
¥ iR:
= = o
® BE ®
T T
= g ©-0-—< A —
e - {8
Q 23 Q E Q I
29 115 15 LA 1B
H
Section AA Section BB (NN-1)xH G
KA 25
K 25 65 | 12 NA-M6 thread depth 6.5
6.5 12
i i (TR
©. [ V¢ L -
e |
< I N + 1
e ) g
©l 65 J | 12 Max. 14.5 (With stroke adjuster at retraction end)
3 13 Operating port 2-Rc1/8 (NPT1/8, G1/8)
2-M6 thread depth 6.5
(mm)
Model F FF N G H NN | GA | HA | J K KA | NA M 4 Y4
MXS20L-10 50 | 40 4 15 | 45 2 25 | 35 10 44 | 31| — 2 83 | 815| 97
MXS20L-20 50 40 4 15 45 2 25 35 10 44 41 — 2 83 | 815 97
MXS20L-30 50 40 4 15 45 2 25 35 10 44 51 — 2 83 | 815 97
MXS20L-40 60 50 4 15 55 2 35 35 10 54 61 — 2 93 | 91.5| 107 Regarding the external
MXS20L-50 35 35 6 15 35 3 50 35 10 69 71 — 2 108 |106.5 | 122 Q dimensions with a shock
MXS20L-75 60 | 60 6 19 | 35 4 54 | 70 10 | 108 | 96 | — 2 147 |1455 | 161 absorber, view the
MXS20L-100 70 70 6 37 35 5 107 70 58 113 121 169 4 200 |[198.5 | 214 external dimensi(_)ns of
MXS20L-125 | 70 | 70 | 8 | 41 | 38 | 6 | 155 | 76 | 70 | 155 | 146 | 223 | 4 | 254 [252.5| 268 MXS20 S{?met”ca”y
MXS20L-150 [ 80 [ 80 | 8 | 19 | 44 | 7 [195 [ 88 | 87 | 190 [ 171 [ 275 | 4 | 306 |304.5 | 320 on page 16.

29



air siice Tanle Series XS

Dimensions: MXS25L/Symmetric Type

- ©
Basic style £ 2-M8 thread depth 15
Q
N kel
--1)xF
0.030 30 2 ) 3
26H9*; " depth 6 o
F 2] § 31
© 0~
27
5 B2 X
35| \N® F © © 2s &
ER I Z 8 ®
25 o o Lo & L of aleE| o [®] |
Sa A ¥ A N4 N4 pw o g g ~ I’
» Qo ] =2 L
ole X 4 {9 0
=0 FeE R <
Ss | 2 3 i %
i r _{\ T T Ay N E F - e ; ==
v r i el N ! ] i [742\T
b ! ‘ : 7. w| 1 : - H
o k 6-M6 thread depth 10 = I 0N N : Stroke adjuster T
Stroke adjuster . With troke adjuster
f at retraction end ( J
20 7 at extension end 54.5 at extension end)
N-M6 thread depth 13
77 (Helisert)
Y4
* For detailed dimensions on stroke
adjusters, refer to the options available
N with adjusters.
s © Rubber stopper (See page 19.)
Shock absorber (See page 20.)
0 15 M
o ©
ey
a
[0}
o
8
H +0.030 th =
NN-MS8 thread depth 16 oBH9 o _depth 6 HA GA 2
T
7 )-A »«B ©
R
[aV)
o, ORI H :
[sp)
o ® A5 66006 oo
1T 1T ® w O w \'1 w Y W\J A4
o e Y S ptf
NHEIRS (S}
34 |16 34 |16 A B
‘ \ H
Section AA Section BB (NN-1)xH G
KA 31
8 15
K 31 NA-M8 thread depth 8.5
8 15
T i mi
IT’{ O OHO /(/ F}j—} -
L W A\ AVAR V4 ‘( = |
© @ A |
— 1 {.\ G} /)~J ' Ooi
— 71 -~
o 8 J | 15 Max. 16.5 (With stroke adjuster at retraction end)
4 (|16 Operating port 2-Rc1/8(NPT1/8, G1/8)
2-M8 thread depth 8.5
(mm)
Model F FF N G H NN | GA | HA | J K | KA[NA | M Y4 Y44
MXS25L-10 50 40 4 22 45 2 22 | 45 12 47 35 | — 2 92 | 90.5| 108
MXS25L-20 50 40 4 22 45 2 22 45 12 47 45 — 2 92 90.5| 108
MXS25L-30 50 40 4 22 45 2 22 | 45 12 47 55 | — 2 92 | 90.5| 108
MXS25L-40 60 50 4 22 55 2 22 55 12 57 65 — 2 102 | 100.5| 118 _
MXS25L-50 | 35 | 35 | 6 | 20 | 35 | 3 | 55| 35 | 12 | 70 | 75 | — | 2 | 115 |1135] 131 Regarding the external
MXS25L-75 | 60 | 60 | 6 | 26 | 35 | 4 | 61| 70 | 33 | 90 | 100 | — | 2 | 156 | 1545 172 dimensions with a shock
c absorber, view the
MXS25L-100 70 70 6 32 35 5 102 70 50 114 125 | 162 4 197 |195.5| 213 external dimensions of
MXS25L-125 | 75 | 75 8 40 | 38 6 | 154 | 76 | 67 | 155 | 150 | 218 | 4 | 255 |253.5| 271 MXS25 symmetrically
MXS25L-150 | 80 | 80 8 30 | 40 7 | 190 | 80 | 82 | 180 | 175 | 258 | 4 | 295 | 2935 311 on page 18.

30



Series MXS

Proper Position for Auto Switch Mounting (Detection at stroke end)

Reed Switch: D-A90, D-A93, D-A96, D-A90V, D-A93V, D-A96V

B E

] Model A Stroke Stroke
10| 20 [ 30 [ 40 [ 50 75 [100]125[150| 10] 20 [ 30 | 40 | 50 | 75 [ 100 ] 125 150
=== = = MXS6 59| 56| 56] 56/176]26] — | — [ — [ = | 38 24l dalslael - == |-
A - MXS8 76(109] 59) 69[149(29|479]| — | — | = | &) S SRS EN - | = | =
MXS12 116284 184 84104204 414|704 | — | — | B8] 150 S5 SOl %8 (Ralee| — | —
MXS16 163287 [187] 87| 87]137(387 |617 [867| — [ &2 |15 65l &2 b B2l &7 | 4d] —
MXS20 189|326 | 226|126 | 126 | 17.6 [ 31.6 | 596 | 88,6 | 1156 305|325 | 03| 03| 1551 239 228 [ &84 | e
MXS25 23 |375|275|175] 175|205 | 365 525 855 1005 | &P | &B° | 150 |50 180 | &80 [ 8° | &30 | 8°

] # (): Denotes D-A93.

Solid State Switch: D-M9B, D-M9N, D-M9P, D-M9BW, D-M9NW, D-M9PW

I —— B E
Model A Stroke Stroke
B 10 [ 20 | 30 [ 40 | 50 | 75 | 100 [125|150 | 10 | 20 | 30 | 40 | 50 | 75 {100 {125 |150
MXS6 10 | 96| 96| 96(216(276| — | — | — | — | 04| -04]-04| 116175 — | — | — | —
MXS8 116 [149] 99(109(189[269(519| — | — | — | 49| -0.1| 09| 8.9[169|419| — | — | —
MXS12 15.6 | 324|224 [ 124144244 |454 |44 | — | — (224|124 | 24| 44(144(354|644| — | —

MXS16 203 [32.7 | 227|127 [ 127 | 17.7 (427 |65.7 |90.7 | — |22.7(12.7| 27| 27| 7.7|32.7|55.7|80.7| —
MXS20 22.9 |36.6 | 26.6 | 16.6 | 16.6 | 21.6 | 35.6 |63.6 | 92.6 119.6|126.6 | 16.6| 6.6| 6.6|11.6|25.6(53.6|82.6|109.6
MXS25 27 |415]315|21.5]21.5|245(405 [56.5|89.5(1045]|31.5(21.5(11.5]|11.5(14.5|30.5(46.5|79.5| %45

Solid State Switch: D-M9BV, D-M9NV, D-M9PV, D-M9BWV, D-MINWV, D-MIPWV

B E
Model A Stroke Stroke
10 1 20 | 30 | 40 [ 50 | 75 {100 | 125|150 | 10 [ 20 | 30 | 40 | 50 | 75 [100 | 125 | 150
MXS6 10 | 96| 96| 96(216(276| — | — | — | — | 16| 16| 16[136(196]| — | — | — | —
MXS8 116 (149 99(109(189(269(51.9| — | — | — | 69| 1.9| 29({109(189(439| — | — | —
MXS12 15.6 | 32.4 |22.4 (124 (144244454 | 744 | — | — (244 |144| 44| 64(164 (374 (664 | — | —

MXS16 203 |32.7 227 | 127 [ 127 | 17.7|42.7 | 657 |90.7 | — |24.7 [14.7| 47| 47| 97[347|57.7|827 | —
MXS20 22.936.626.6|16.6]16.6| 21.6| 35.6 [63.6 |92.6 [1196|28.6 | 18.6] 8.6 8.6(13.6)|27.6 |55.6 [84.6 |111.6
MXS25 27 |415]315(21.5|21.5] 245|405 |56.5]89.5 [1045]33.5 235|135 |13.5|16.5|325(485 815 | 965

Auto Switch Mounting Operating Range (mm)
A Caution Auto Switch Mounting Tool . Applicable bore size (mm)
« When tightening the auto switch mounting screw Auto switch model
(included with auto switch), use a watchmakers’ 6 8 12 16 20 25
screwdriver with an approximately 5 to 6 mm diameter D-A9C1/A9[1V 4.5 5 6 7 8 8
handle. D-M9LI/M9IV 15 15|25 | 3 | 3 | 3
Tightening Torque D-MOOW/MOCOWV | 2 | 25 |3 | 4 | 6 | 6

* Use a torque of approximately 0.05to 0.1 N-m. As a
guide, the set screw can be tightened about 90° past
the position at which tightening can be felt.

N

Set screw (Included with auto switch)

Watchmakers’ screwdriver

Other than the applicable auto switches listed in “How to Order”, the following auto switches can be mounted:

j For detailed specifications, refer to “SMC Best Pneumatics” catalogue. 1
1 Electrical entry 1
I Type Model (direction) Features :
1 D-A90 Grommet (In-line)
Reed switch i indi i

: D-A90V  |Grommet (Perpendicular) Without indicator light :
N Normally closed (NC=b contact), solid state switch (D-FOG/F9H type) are also available. 1

For details, refer to "SMC Best Pneumatics" catalogue. 1

31



Series MXS
Made to Order

Contact SMC for detailed dimensions, specifications and delivery.

Symbol

MXS| Standard part no. |—X42

Anti-corrosive spec. for guide unit

The rail and guide block undergo an anti-corrosive treatment.

Specifications

Model

Anti-corrosive specification type

Bore size (mm)

6, 8, 12, 16, 20, 25

Fluid

Air

Surface treatment

Special anti-corrosive treatment Nt )

Note 1) Dimensions are the same as the standard type.
Note 2) The rail and guide are black due to the special anti-corrosive treatment.

-Maw to
-

32



Series MXS
Safety Instructions

These safety instructions are intended to prevent a hazardous situation and/or equipment damage. These
instructions indicate the level of potential hazard by labels of "Caution", "Warning" or "Danger". To
ensure safety, be sure to observe ISO 4414 Nete 1) J|S B 8370 Nete 2) and other safety practices.

H Explanation of the labels
Labels Explanation of the labels

A Danger In extreme conditions, there is a possible result of serious injury or loss of life.

A Warning Operator error could result in serious injury or loss of life.
A Caution Operator error could result in injury or equipment damage.

Note 1) 1SO 4414: Pneumatic fluid power — General rules relating to systems

Note 2) JIS B 8370: General Rules for Pneumatic Equipment

Note 3) Injury indicates light wounds, burns and electrical shocks that do not require hospitalisation or hospital visits for long-term medical treatment.
)

Note 4) Equipment damage refers to extensive damage to the equipment and surrounding devices.

H Selection/Handling/Applications

1. The compatibility of the pneumatic equipment is the responsibility of the person who designs the
pneumatic system or decides its specifications.
Since the products specified here are used in various operating conditions, their compatibility for the specific pneumatic system
must be based on specifications or post analysis and/or tests to meet the specific requirements. The expected performance and
safety assurance are the responsibility of the person who has determined the compatibility of the system. This person should
continuously review the suitability of all items specified, referring to the latest catalogue information with a view to giving due
consideration to any possibility of equipment failure when configuring a system.

2. Only trained personnel should operate pneumatically operated machinery and equipment.
Compressed air can be dangerous if handled incorrectly. Assembly, handling or repair of pneumatic systems should be
performed by trained and experienced operators.

3. Do not service machinery/equipment or attempt to remove components until safety is confirmed.
1. Inspection and maintenance of machinery/equipment should only be performed once measures to prevent falling or runaway
of the driver objects have been confirmed.
2. When equipment is removed, confirm that safety process as mentioned above. Turn off the supply pressure for this equipment
and exhaust all residual compressed air in the system.
3. Before machinery/equipment is restarted, take measures to prevent quick extension of a cylinder piston rod, etc.

4. Contact SMC if the product will be used in any of the following conditions:

1. Conditions and environments beyond the given specifications, or if product is used outdoors.

2. Installation on equipment in conjunction with atomic energy, railway, air navigation, vehicles, medical equipment, food and
beverages, recreation equipment, emergency stop circuits, clutch and brake circuits in press applications, or safety
equipment.

3. An application which has the possibility of having negative effects on people, property, or animals, requiring special safety analysis.

4. If the products are used in an interlock circuit, prepare a double interlock style circuit with a mechanical protection function for
the prevention of a breakdown. And, examine the devices periodically if they function normally or not.

B Exemption from liability

1. SMC, its officers and employees shall be exempted from liability for any loss or damage arising out of earthquakes or fire,
action by a third person, accidents, customer error with or without intention, product misuse, and any other damages
caused by abnormal operating conditions.

2. SMC, its officers and employees shall be exempted from liability for any direct or indirect loss or damage, including
consequential loss or damage, loss of profits, or loss of chance, claims, demands, proceedings, costs, expenses, awards,
judgments and any other liability whatsoever including legal costs and expenses, which may be suffered or incurred,
whether in tort (including negligence), contract, breach of statutory duty, equity or otherwise.

3. SMC is exempted from liability for any damages caused by operations not contained in the catalogues and/or instruction
manuals, and operations outside of the specification range.

4. SMC is exempted from liability for any loss or damage whatsoever caused by malfunctions of its products when combined
with other devices or software.

Back page 1



Series MIXS
Specific Product Precautions 1

Be sure to read this before handling. For Safety Instructions, Actuators Precaution,
Auto Switches Precautions, refer to “Precautions for Handling Pneumatic Devices” (M-03-E3A)

al

| Selection \

/\ Caution

1.0Operate a load within the

] Mounting \

/\ Caution

1. Do not scratch or dent the

8. Do not attach magnets to
the table section.

range of the operating li-
mits.

Operate loads within the range of
the operating limits.

When the actuator is used outside the
operating limits, excentric loads on the
guide will be excessive and this will

mounting side of the body,
table or end plate.

The damage will result in a decrease in
parallelism, vibration of the guide or an
increase in moving part resistance.

.Do not scratch or dent on

the forward side of the rail

Since the table is constructed with a
magnetic substance, it becomes mag-
netised when magnets, etc. are atta-
ched to it. This may cause malfunction
of auto switches, etc.

1. Lateral mounting (Body tapped)

il e and | . B~
cause vibration on t_he guide, in accu- or guide. i} Il
racy and shortened life. . . . -

. . This could result in looseness, increa-

2. If intermediate stops by ex- sed operating resistance, etc.

A Maximum Maximum
tern_al _stO_pper is done, Model | Bolt |tightening torque| screw-in depth
avoid ejection. (N-m) (¢ mm)
If lurching occurs, damage can result. MXS6 M4 2.1 8
When making an intermediate stop Mxs8 | M4 2.1 8
with an external stopper to be followed M§§:§ mg ;-: 12
by continued forward movement, first . :
supply pressure to momentarily rever- | 3- DO not apply excessive po- mggg mg 12'4 12

se the table, then retract the interme-
diate stopper, and finally apply pressu-
re to the opposite port to operate the
table again.

.Do not use it in such a way

that excessive external force
or impact force could work
on it.

This could result in damage.

wer and load when work is
mounted.

If an external force more than the allo-
wable moment is applied, looseness of
the guide unit or increased operating
resistance could take place.

. Flatness of mounting surfa-

ce should be 0.02 mm or
less.

Poor parallelism of the workpiece
mounted on the air slide table, the ba-
se, and other parts can cause vibration
in the guide unit and increased opera-
ting resistance, etc.

5. Select the proper connection

with the load which has ex-
ternal support and/or guide
mechanism on the outside,
and align it properly.

. Avoid contact with the air

slide table during operation.
Hands, etc. may get caught in the stro-
ke adjuster. Install a cover as a safety
measure if there are instances to be
near the slide table during operation.

7.Keep away from objects

which are
magnets.
Since an air slide table has magnets
built-in, do not allow close contact with
magnetic disks, magnetic cards or
magnetic tapes. Data may be erased.

influenced by

2. Lateral mounting (Through-hole)

Maximum Maximum
Model Bolt [tightening torque|screw-in depth
(N-m) (¢ mm)

MXS6 M3 1.2 11

MXS8 M3 1.2 13
MXS12| M4 2.8 18.5
MXS16 | M5 5.7 24
MXS20 | M5 5.7 29
MXS25| M6 10 34

Maximum Maximum
Model Bolt tightening torque| screw-in depth
(N-m) (¢ mm)

MXS6 M2.5 0.5 3.5
MXS8 M3 0.9 4
MXS12 M4 2.1 6
MXS16 M5 4.4 7
MXS20 M5 4.4 8
MXS25 M6 7.4 10

Back page 2




al

Series MIXS
Specific Product Precautions 2

Be sure to read this before handling. For Safety Instructions, Actuators Precaution,
Auto Switches Precautions, refer to “Precautions for Handling Pneumatic Devices” (M-03-E3A)

|

Mounting

|

Operating Environment

]Caution on Handling Adjuster Option \

/\ Caution

1. Front mounting
AbTie Tt—
Z
Maximum Maximum
Model Bolt  [|tightening torque | - screw-in
(N-m) depth (¢mm)
MXS6 M3 0.9 5
MXS8 M4 2.1 6
MXS12 M5 4.4 8
MXS16 M6 7.4 10
MXS20 M6 7.4 13
MXS25 M8 18 15
2. Top mounting
Guide
i‘ll \lll‘
+ IN\\YR
% [ 1

7

ACaution To prevent the workpiece holding
olts from touching the guide

block, use bolts that are at least
0.5 mm shorter than the maximum
screw-in depth. If longer bolts are
used, they can touch the guide
and cause a malfunction.

Maximum Maximum
Model Bolt tightening torque |  screw-in
(N-m) depth (¢ mm)

MXS6 M3 0.9 4
MXS8 M3 0.9 5
MXS12 M4 2.1 55
MXS16 M5 4.4 6
MXS20 M5 4.4 10
MXS25 M6 7.4 13

1. The positioning hole on the

table and the positioning
hole at the bottom of the
body do not have the same
centre. Use these holes du-
ring reinstallation after the
table has been removed for
the maintenance of an iden-
tical product.

Back page 3

/\ Caution

1.

2.

3.
4.

5.

Do not use in an environ-
ment, where the product
could be exposed to liquids
such as cutting oil, etc.

Using in an environment where the
product could be exposed to cutting oil,
coolant, oil, etc. could result in loose-
ness, increased operating resistance,
air leakage, etc.

Do not use in an environ-
ment, where the product
could be exposed directly
to foreign materials such as
powder dust, blown dust,
cutting chips, spatter, etc.
This could result in looseness and in-
creased operating resistance, and air
leakage, etc.

Contact us regarding use in this kind of
environment.

Do not use in direct sunlight.

When there are heat sour-
ces in the surrounding area,
block them off.

When there are heat sources in the su-
rrounding area, radiated heat may cause
the product’s temperature to rise and ex-
ceed the operating temperature range.
Block off the heat with a cover, etc.

Do not subject it to excessi-
ve vibration and/or impact.

Contact us regarding use in this kind of
environment, since this can cause da-
mage or a malfunction.

| Caution on Handling Adjuster Option |

Stroke Adjuster

/\ Caution

1.

2.

Do not replace with the bolt
other than the original ad-
justing bolt.

This could result in looseness and da-
mage due to impact forces, etc.

Refer to the table below for
the lock nut tightening torque.

Insufficient torque will cause a decrea-
se in the positioning accuracy.

Model Tightening torque (N-m)
MXS6 3.0
MXS8 5.0
MXS12 12.5
MXS16 25.0
MXS20 43.0
MXS25 69.0

Stroke Adjuster

/\ Caution

. 3. When stroke adjuster is ad-

justed, do not hit the table
with a wrench, etc.
This could result in looseness.

With Shock Absorber

/\ Caution

1.Do not rotate the set screw on

the bottom of shock absorber.

This is not an adjusting screw. Turning
it could cause oil leakage.

. Do not scratch the exposed

portion of the piston rod.

Durability could be degraded and the
piston rod may not retract. )

Turning the
bottom screw
is not allowed.

-

Piston rod

Damage is not allowed.

3. Shock absorber is considered

a consumable component.
When energy absorption has
decreased, replace it.

Applicable size Shock absorber model
MXS8 RB0805
MXS12 RB0806
MXS16 RB1007
MXS20 RB1411
MXS25 RB1412

4.Refer to the table below for the

tightening torque of the lock
nut for the shock absorber.

Model Tightening torque (N-m)
MXS8
1.67
MXS12 6
MXS16 3.14
MXS20 108
MXS25




A

Be sure to read this before handling. For Safety Instructions, Actuators Precaution,
Auto Switches Precautions, refer to “Precautions for Handling Pneumatic Devices” (M-03-E3A)

Series MXS
Specific Product Precautions 3

|

Caution on Mounting Adjuster Option

Rubber Stopper

/A Caution

1. Use caution because the lengths of the mounting bolts for the body

and the table are different from each other for some models.

The shock absorber at the extension end (AS) of the MXS6, 8 and 12 has different length hexagon
socket head cap screws on the body mounting section and on the table mounting section. Use suf-

ficient care when mounting.
If assembled by making an error in length, it could cause looseness or lead to malfunction.

. Follow the table below for tightening torque of mounting bolts.

Insufficient torque will cause a decrease in the positioning accuracy and lead to malfunction.

Stroke adjuster at extension end (AS) Stroke adjuster at

Body mounting section | Table mounting section | retraction end (AT)

Model Tightening Tightening Tightening

Thread size| torque Thread size| torque [Thread size| torque

(N-m) (N-m) (N-m)
MXS6 |M2.5x 10 0.5 M2.5 x 8 0.5 M2.5 x 8 0.5
MXS8 | M3 x 12 0.9 M3 x 10 0.9 M3 x 10 0.9
MXS12| M4 x 15 2.1 M4 x 12 2.1 M4 x 8 2.1
MXS16| M5x 18 4.4 M5 x 18 4.4 M5 x 10 4.4
MXS20| M6 x 20 7.0 M6 x 20 7.0 M5 x 12 4.4
MXS25| M8 x 25 18.0 M8 x 25 18.0 M6 x 16 7.0

Shock Absorber

/\ Caution

1. Use caution because the lengths of the mounting bolts for the body

and the table are different from each other for some models.

The shock absorber at the retraction end (BT) has different length hexagon socket head cap
screws on the body mounting section and on the table mounting section. Use sufficient care when

mounting.
If assembled by making an error in length, it could cause looseness or lead to malfunction.
2. Follow the table below for tightening torque of mounting bolts.
Insufficient torque will cause a decrease in the positioning accuracy and lead to malfunction.

Shock absorber at extension end (BS) Shock absorber at retraction end (BT)

Body mounting section | Table mounting section | Body mounting section | Table mounting section

Model Tightening Tightening Tightening Tightening
Thread size| torque |Thread size| torque |Thread size torque [Thread size| torque
(N-m) (N-m) (N-m) (N-m)
MXS8 | M3 x 16 0.9 M3 x 16 0.9 M3 x 12 0.9 M3 x 16 0.9
MXS12| M4 x 15 2.1 M4 x 15 2.1 M4 x 8 2.1 M4 x 15 2.1
MXS16| M5 x 18 4.4 M5 x 18 4.4 M5 x 10 4.4 M5 x 18 4.4
MXS20| M6 x 25 7.0 M6 x 25 7.0 M5 x 12 4.4 M6 x 25 7.0
MXS25| M8 x 25 18.0 M8 x 25 18.0 M6 x 16 7.0 M8 x 25 18.0

Back page 4



al

Series MXS
Specific Product Precautions 4

Be sure to read this before handling. For Safety Instructions, Actuators Precaution,
Auto Switches Precautions, refer to “Precautions for Handling Pneumatic Devices” (M-03-E3A)

|

Caution on Handling Functional Option |

]Caution on Handling Symmetric Type \

With End Lock

With Buffer Mechanism

/\ Caution

1

N

. Use 2 position, 4 or 5 port so-

lenoid valves.

A malfunction may occur with a control
circuit that exhausts from both ports,
such as exhaust centre 3 position val-
ves.

Recommended pneumatic circuit
NS
i /v ]
]
—

H

5]

Air slide table

W

. Be sure to use meter-out speed

control valves.

If used with meter-in speed control or
without a speed controller, it may result
in malfunction.

3. When releasing the end lock

manually, be sure that air
pressure is released.

If the end lock is unlocked while the air
pressure still remains, it will lead to da-
mage of the workpiece, etc. due to
unexpected lurching.

— How to Unlock the End Lock
= Before proceeding, make sure that there is
no residual air pressure.
(1) Push down the lock piston pin.
(2) Slide the table forward.

Back page 5

/\ Caution

1. When using the air slide ta-
ble with buffer, it must be
oriented as shown in the
sketch below.

In horizontal operation, the buffer may
travel the stroke length and activate
the auto switch depending on the load
and the speed. Therefore, adjust the
speed according to the load.

Horizontal use

2. Auto switch with buffer func-
tion: For the proper moun-
ting positions for detection
at stroke end, refer to the fo-
llowing table.

<A Normally OFF
detection

—— ¢ o¢
YA 1
P
| I S o
]

B

Normally ON
detection

+ Adjust the switch position according to load
and speed.

(mm)

Model A B
MXS6 2
MXS8 2.5
MXS12 4 3
MXS16 5
MXS20 5.5
MXS25 10

1. Maintain a longer distance

than prescribed below if
standard style and symme-
tric style are used side by
side.

If the space is insufficient, it may cau-
se auto switches to malfunction.

fos ® ® &

[R[X

IR [®]®

(mm)
Model Mounting pitch: t
MXS6 5
MXS8 10
MXS12 10
MXS16 10
MXS20 15
MXS25 15




O

EUROPEAN SUBSIDIARIES:

%(E

= Austria

SMC Pneumatik GmbH (Austria).
Girakstrasse 8, A-2100 Korneuburg
Phone: +43 2262-62280, Fax: +43 2262-62285
E-mail: office @smc.at

http://www.smc.at

l] Belgium

SMC Pneumatics N.V./S.A.
Nijverheidsstraat 20, B-2160 Wommelgem
Phone: +32 (0)3-355-1464, Fax: +32 (0)3-355-1466
E-mail: post@smcpneumatics.be
http://www.smcpneumatics.be

i Bulgaria

SMC Industrial Automation Bulgaria EOOD
16 kliment Ohridski Blvd., fl.13 BG-1756 Sofia
Phone:+359 2 9744492, Fax:+359 2 9744519
E-mail: office @smc.bg

http://www.smc.bg

Croatia

SMC Industrijska automatika d.o.0.
Crnomerec 12, 10000 ZAGREB

Phone: +385 1 377 66 74, Fax: +385 1 377 66 74
E-mail: office @smc.hr
http://www.smceu.com

i Czech Republic

SMC Industrial Automation CZ s.r.o.
Hudcova 78a, CZ-61200 Brno

Phone: +420 5 414 24611, Fax: +420 5 412 18034
E-mail: office @smc.cz

http://www.smc.cz

- Denmark

SMC Pneumatik A/S

Knudsminde 4B, DK-8300 Odder

Phone: +45 70252900, Fax: +45 70252901
E-mail: smc@smc-pneumatik.dk
http://www.smc-pneumatik.com

5 Estonia

SMC Pneumatics Estonia OU

Laki 12-101, 106 21 Tallinn

Phone: +372 (0)6 593540, Fax: +372 (0)6 593541
E-mail: smc@smcpneumatics.ee
http://www.smcpneumatics.ee

E Finland

SMC Pneumatics Finland OY

PL72, Tiistinniityntie 4, SF-02031 ESPOO
Phone: +358 207 513513, Fax: +358 207 513595
E-mail: smcfi@smc.fi

http://www.smc.fi

.I.

l] France

SMC Pneumatique, S.A.

1, Boulevard de Strasbourg, Parc Gustave Eiffel
Bussy Saint Georges F-77607 Marne La Vallee Cedex 3
Phone: +33 (0)1-6476 1000, Fax: +33 (0)1-6476 1010
E-mail: contact@smc-france.fr
http://www.smc-france.fr

5 Germany

SMC Pneumatik GmbH

Boschring 13-15, D-63329 Egelsbach
Phone: +49 (0)6103-4020, Fax: +49 (0)6103-402139
E-mail: info@smc-pneumatik.de
http://www.smc-pneumatik.de

E Greece

S. Parianopoulus S.A.

7, Konstantinoupoleos Street, GR-11855 Athens
Phone: +30 (0)1-3426076, Fax: +30 (0)1-3455578
E-mail: parianos@hol.gr
http://www.smceu.com

= Hungary

SMC Hungary Ipari Automatizalasi Kft.
Budafoki ut 107-113, H-1117 Budapest
Phone: +36 1 371 1343, Fax: +36 1 371 1344
E-mail: office @ smc-automation.hu
http://www.smc-automation.hu

Ireland

SMC Pneumatics (Ireland) Ltd.
2002 Citywest Business Campus, Naas Road, Saggart, Co. Dublin

Phone: +353 (0)1-403 9000, Fax: +353 (0)1-464-0500
E-mail: sales@smcpneumatics.ie
http://www.smcpneumatics.ie

l] ltaly

SMC ltalia S.p.A

Via Garibaldi 62, 1-20061Carugate, (Milano)
Phone: +39 (0)2-92711, Fax: +39 (0)2-9271365
E-mail: mailbox @ smcitalia.it
http://www.smcitalia.it

= Latvia

SMC Pneumatics Latvia SIA

Smerla 1-705, Riga LV-1006, Latvia
Phone: +371 781-77-00, Fax: +371 781-77-01
E-mail: info@smclv.lv
http://www.smclv.lv

i Lithuania

SMC Pneumatics Lietuva, UAB
Savanoriu pr. 180, LT-01354 Vilnius, Lithuania
Phone: +370 5 264 81 26, Fax: +370 5 264 81 26

= Netherlands

SMC Pneumatics BV

De Ruyterkade 120, NL-1011 AB Amsterdam
Phone: +31 (0)20-5318888, Fax: +31 (0)20-5318880
E-mail: info@smcpneumatics.nl
http://www.smcpneumatics.nl

L Norway

SMC Pneumatics Norway A/S

Vollsveien 13 C, Granfos Naeringspark N-1366 Lysaker
Tel: +47 67 12 90 20, Fax: +47 67 12 90 21
E-mail: post@smc-norge.no
http://www.smc-norge.no

; Poland

SMC Industrial Automation Polska Sp.z.0.0.
ul. Konstruktorska 11A, PL-02-673 Warszawa,
Phone: +48 22 548 5085, Fax: +48 22 548 5087
E-mail: office@smc.pl

http://www.smc.pl

Portugal
SMC Sucursal Portugal, S.A.
Rua de Eng® Ferreira Dias 452, 4100-246 Porto
Phone: +351 22-610-89-22, Fax: +351 22-610-89-36
E-mail: postpt@smc.smces.es
http://www.smces.es

I I Romania

SMC Romania srl
Str Frunzei 29, Sector 2, Bucharest
Phone: +40 213205111, Fax: +40 213261489
E-mail: smcromania@smcromania. o
http://www.smcromania.ro

i Russia

SMC Pneumatik LLC.

4B Sverdlovskaja nab, St. Petersburg 195009

Phone.:+812 718 5445, Fax:+812 718 5449
E-mail: info@smc-pneumatik.ru
http://www.smc-pneumatik.ru

=
Slovakia

|
SMC Priemyselna Automatizacia, s.r.o.

s Spain

SMC Espanfia, S.A.

Zuazobidea 14, 01015 Vitoria

Phone: +34 945-184 100, Fax: +34 945-184 124
E-mail: post@smc.smces.es
http://www.smces.es

-I Sweden

SMC Pneumatics Sweden AB
Ekhagsvagen 29-31, S-141 71 Huddinge
Phone: +46 (0)8-603 12 00, Fax: +46 (0)8-603 12 90
E-mail: post@smcpneumatics.se
http://www.smc.nu

H Switzerland

SMC Pneumatik AG

Dorfstrasse 7, CH-8484 Weisslingen

Phone: +41 (0)52-396-3131, Fax: +41 (0)52-396-3191
E-mail: info@smc.ch

http://www.smc.ch

Turkey

Entek Pndmatik San. ve Tic Ltd. Sti.

Perpa Tic. Merkezi Kat: 11 No: 1625, TR-80270 Okmeydani stanbul
Phone: +90 (0)212-221-1512, Fax: +90 (0)212-221-1519
E-mail: smc-entek @ entek.com.tr
http://www.entek.com.tr

BN,

SMC Pneumat|cs (UK) Ltd

Vincent Avenue, Crownh|II Milton Keynes, MK8 0AN
Phone: +44 (0)800 1382930 Fax: +44 (0)1908-555064
E

-mail: sales @ smcpneumatics.co.uk
http://www.smcpneumatics.co.uk

Namestie Martina Benku 10, SK-81107 Bratislava

Phone: +421 2 444 56725, Fax: +421 2 444 56028
E-mail: office @smc.sk
http://www.smc.sk

Slovenia

SMC industrijska Avtomatika d.o.o.
Grajski trg 15, SLO-8360 Zuzemberk
Phone: +386 738 85240 Fax: +386 738 85249
E-mail: office @smc-ind-avtom.si
http://www.smc-ind-avtom.si

OTHER SUBSIDIARIES WORLDWIDE:

ARGENTINA, AUSTRALIA, BOLIVIA, BRASIL, CANADA, CHILE,
CHINA, HONG KONG, INDIA, INDONESIA, MALAYSIA, MEXICO,
NEW ZEALAND, PHILIPPINES, SINGAPORE, SOUTH KOREA,
TAIWAN, THAILAND, USA, VENEZUELA

http://www.smceu.com
http://www.smcworld.com

SMC CORPORATION

1-16-4 Shimbashi, Minato-ku, Tokio 105 JAPAN; Phone:03-3502-2740 Fax:03-3508-2480

1st printing JX printing JX 30 UK Printed in Spain

Specifications are subject to change without prior notice
and any obligation on the part of the manufacturer.





